MAR-AP0) 2023
~

Total No. of Questions : 5] SEAT No. :

[Total No. of Pages : 5

P-3343

(6027]-15
M.C.A. (Management)

Time : 2V: Hours|
Instructions to the
1) All gug

Q1)

y
a) Radio waves " b)) Microwaves
c) Infrared waves ~d)  Notin the list
if) is.2' combination of several different topologies

b) Hybrid
dy Tertiary

b) unidirection

6) ¢y  bidirectional
W) An IP packet is called a

a) user datagram

¢) datagram

v) E-mail is a service handled by the &,
a) session b) ptesentation
¢) application . d ), data link

ET.O.




vi) In a peer-to.-peer process, layer 4 on machine A communicates with
on machine B.
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viii)

X)

2)

160271-15

X1) q

a

‘AU%QIH&UC repeat request

c) ,A;utomatlc retransmission request

appended‘?
a) 111111000

c) Oil

™ w’ . e

¢) 2 : 255 o7
le entry cgﬁﬁsts of

b) the hop count to that destination

c) IP address of the next router

d) All of the mentioned

are reserved for subnetwork?
a) 2 bits
c) 6bits

2

destination nctwork address

Two-dimensional pmﬁ}&
Check-sum O

b) 255.255.255.0

d) None of the Mentioned D

b) gm
d) ab;t

«




XIX)

xui) In link state routing, each router receives information directly from
a)  Every router on the netw
b) Every router ii:;‘%s mm m o units away
c) Atable %%m@?@@ on 1‘5 work hosts
Xiv)
by HTTP
d)y SIP
XV) rchitecture.
a) rﬁéﬁ;‘:ié‘em»sm ver by P\ ~
ﬁ"iif}}ata centric Sefyic@ &iemed
XVi) Caesar up%wr 1s an example of -
a)  Asymmet mg%ﬁ@/
b} Symmetric key cr‘fp{@%ﬁ};fq” N\
¢)
d)
cvit) RSA alg@rithm S ,§; g‘r{z;mg};;éx%%{ of

a) o PuBlicKey encryption

b) ) S¥fametric key.eryptography

¢)® Both Asymmetric and Symmetric key cryptogr.

a) Modification of message

Lo

¢c) Release of message con
In statement “int count\=sen

a)  bits transmitted

¢) datatransmitted ‘b N(mﬂ of the mentioned
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xx) Server announces willingness to accept the connection using
command

accept() ’ b) read()
write() 0 d) tdisten()
Rmi "gmde word is 101101010, Using odd parity [6gate

b) Find the4
is to b

OR

a) .
|
b) |
Q3) a)

D N83 #41.57. 10

W 19438, 14, 13

i) 143 .62.11.18 N
B) Explain IPv6 Packet Format in detail.

OR

a) Find the maximum number of h@sts av
a subnet mask of 255.255.255.19 !
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tocol in detail.
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04) a)  Explain SMTP pr

1y
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Explain OSPF routing protocol irf'detail.
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icks? Write types of attacks in detayi. .2

&

a)  Write the client and server prografiufor implementing the broadcasting in

s’






